

Relations for single and product moments of generalized order statistics from Sushila distribution

Ajay Kumar^{1*}, M. A. R. Khan²

¹Department of Applied Statistics, School for Physical Sciences, Babasaheb Bhimrao Ambedkar University, Lucknow-226025, Uttar Pradesh, INDIA.

²Department of Statistics and O.R. Aligarh Muslim University, Aligarh-202002, Uttar Pradesh, INDIA.

Email: ajaykrgos@gmail.com

Abstract

In this paper, some recurrence relations for single and product moments of generalized order statistics arising from the Sushila distribution are obtained. Further, various deductions and related results are discussed and identified some of these recurrence relations and other properties of generalized order statistics.

Key Words: Order statistics, k^{th} upper record values, generalized order statistics, Sushila distribution, single moments, product moments, recurrence relations.

*Address for Correspondence:

Mr. Ajay Kumar, Department of Applied Statistics, School for Physical Sciences, Babasaheb Bhimrao Ambedkar University, Lucknow-226025, Uttar Pradesh, INDIA.

Email: ajaykrgos@gmail.com

Received Date: 07/10/2017 Revised Date: 02/11/2017 Accepted Date: 12/12/2017

Access this article online

Quick Response Code:



Website:

www.statperson.com

Accessed Date:
14 February 2018

INTRODUCTION

The concept of generalized order statistics (*gos*) was given by Kamps (1995), which is given as below:

Let X_1, X_2, \dots, X_n be a sequence of independent and identically distributed (*iid*) random variables (*rv*) with absolutely continuous distribution function (*df*) $F(x)$ and the probability density function (*pdf*) $f(x)$, $x \in (\alpha, \beta)$.

Let $n \in \mathbb{N}$, $n \geq 2$, $k \geq 1$, $\tilde{m} = (m_1, m_2, \dots, m_{n-1}) \in \mathfrak{R}^{n-1}$, $M_r = \sum_{j=r}^{n-1} m_j$, $1 \leq r \leq n-1$, be the parameters such

that $\gamma_r = k + n - r + M_r \geq 1$, for all $r \in \{1, 2, \dots, n-1\}$. Then $X(r, n, \tilde{m}, k)$, $r = 1, 2, \dots, n$ are called *gos* if their joint *pdf* is given by

$$f_{X(1,n,\tilde{m},k), \dots, X(n,n,\tilde{m},k)}(x_1, x_2, \dots, x_n)$$

$$= k \left(\prod_{j=1}^{n-1} \gamma_j \right) \left(\prod_{i=1}^{n-1} [\bar{F}(x_i)]^{m_i} f(x_i) \right) [\bar{F}(x_n)]^{k-1} f(x_n) \tag{1.1}$$

on the cone $F^{-1}(0) < x_1 \leq \dots \leq x_n < F^{-1}(1)$,

where $\bar{F}(x) = 1 - F(x)$.

Here we may consider two cases:

Case I. $\gamma_i = \gamma_j$ i.e. $m_1 = m_2 = \dots = m_{n-1} = m$.

Case II. $\gamma_i \neq \gamma_j$, $i, j = 1, 2, \dots, n - 1$.

For case I, *gOS* will be denoted as $X(r, n, m, k)$ and its *pdf* is given by Kamps(1995)

$$f_{X(r,n,m,k)}(x) = \frac{C_{r-1}}{(r-1)!} [\bar{F}(x)]^{\gamma_r-1} f(x) g_m^{r-1}(F(x)), \alpha \leq x \leq \beta \tag{1.2}$$

and the joint *pdf* of $X(r, n, m, k)$ and $X(s, n, m, k)$, $1 \leq r < s \leq n$, is

$$f_{X(r,n,m,k),X(s,n,m,k)}(x, y) = \frac{C_{s-1}}{(r-1)!(s-r-1)!} [\bar{F}(x)]^m f(x) g_m^{r-1}(F(x)) \times [h_m(F(y)) - h_m(F(x))]^{s-r-1} [\bar{F}(y)]^{\gamma_s-1} f(y), \alpha \leq x < y \leq \beta \tag{1.3}$$

where

$$C_{r-1} = \prod_{i=1}^r \gamma_i, \gamma_i = k + (n - i)(m + 1),$$

$$h_m(x) = \begin{cases} -\frac{1}{m+1}(1-x)^{m+1}, & m \neq -1 \\ -\ln(1-x), & m = -1 \end{cases}$$

and

$$g_m(x) = h_m(x) - h_m(0), \quad x \in [0, 1).$$

For case II, the *pdf* of $X(r, n, \tilde{m}, k)$ is Kamps and Cramer (2001)

$$f_{X(r,n,\tilde{m},k)}(x) = C_{r-1} f(x) \sum_{i=1}^r a_i(r) [\bar{F}(x)]^{\gamma_i-1}, \tag{1.4}$$

and the joint *pdf* of $X(r, n, \tilde{m}, k)$ and $X(s, n, \tilde{m}, k)$, $1 \leq r < s \leq n$, is

$$f_{X(r,n,\tilde{m},k)X(s,n,\tilde{m},k)}(x, y) = C_{s-1} \sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{\bar{F}(y)}{\bar{F}(x)} \right)^{\gamma_i} \left(\sum_{i=1}^r a_i(r) [\bar{F}(x)]^{\gamma_i} \right) \times \frac{f(x) f(y)}{\bar{F}(x) \bar{F}(y)}, \tag{1.5}$$

where

$$C_{r-1} = \prod_{i=1}^r \gamma_i, \gamma_i = k + n - i + M_i$$

$$a_i(r) = \prod_{\substack{j=1 \\ j \neq i}}^r \frac{1}{(\gamma_j - \gamma_i)}, 1 \leq i \leq r \leq n$$

$$a_i^{(r)}(s) = \prod_{\substack{j=r+1 \\ j \neq i}}^s \frac{1}{(\gamma_j - \gamma_i)}, \quad r+1 \leq i \leq s \leq n.$$

It may be noted that $m_1 = m_2 = \dots = m_{n-1} = m \neq -1$

$$a_i(r) = \frac{(-1)^{r-i}}{(r-1)!(m+1)^{r-1}} \binom{r-1}{r-i}$$

$$a_i^{(r)}(s) = \frac{(-1)^{s-i}}{(s-r-1)!(m+1)^{s-r-1}} \binom{s-r-1}{s-i}.$$

Consequently the *pdf* of $X(r, n, \tilde{m}, k)$ and the joint *pdf* of $X(r, n, \tilde{m}, k)$ and $X(s, n, \tilde{m}, k)$ reduce to the *pdf* of $X(r, n, m, k)$ and the joint *pdf* of $X(r, n, m, k)$ and $X(s, n, m, k)$, respectively. Several models of ordered random variables such as order statistics and record value can be seen as special cases of *gos*. If $m=0$ and $k=1$, then

$X(r, n, m, k)$ reduces to the r^{th} order statistic $X_{r:n}$ David and Nagaraja (2003). If $m=-1$ and $k=1$, then $X(r, n, m, k)$ is the r^{th} record values from an infinite sequence of *iid rv*'s Ahsanullah (1995). Other special cases are k^{th} record values ($m=-1, k \in \mathbb{N}$), Dziubdziela and Kopociński (1976), sequential order statistics $((\gamma_i = n-i+1)\beta_i; \beta_1, \beta_2, \dots, \beta_n > 0)$ and order statistics with non-integral sample size ($m=0, k=\alpha-n+1, \alpha=n$, Stigler (1977), Rohatgi and Saleh (1988)).

Many authors utilized the concept of *gos* in their studies. References may be made to Kamps and Gather (1997), Keseling (1999), Cramer and Kamps (2000), Ahsanullah (2000), Pawlas and Szynal (2001), Ahmad and Fawzy (2003), Ahmad (2007), Khan *et al.* (2007), Athar *et al.* (2012), Saran *et al.* (2015), Khan and Khan (2016) among others. For textbook reference, one may refer to Ahsanullah (1995), Ahsanullah and Nevzorov (2001), Kamps (1995) and Arnold *et al.* (1992). In this paper, we have obtained the recurrence relation of *gos* arising from the Sushila distribution.

A random variable (*rv*) X is said to have a Sushila distribution Shanker *et al.* (2013) if its *df* is given by

$$F(x) = 1 - \frac{\lambda(\sigma+1) + \sigma x}{\lambda(\sigma+1)} e^{-\frac{\sigma}{\lambda}x}; \quad x > 0, \sigma > 0, \lambda > 0 \quad (1.6)$$

and the corresponding *pdf* is given by

$$f(x) = \frac{\sigma^2}{\lambda(1+\sigma)} \left(1 + \frac{x}{\lambda}\right) e^{-\frac{\sigma}{\lambda}x}; \quad x > 0, \sigma > 0, \lambda > 0. \quad (1.7)$$

The Sushila distribution given in (1.7) was introduced by Shanker *et al.* (2013). At $\lambda=1$, it reduces to Lindley distribution (Lindley, 1958) having *pdf* as given by

$$f(x) = \frac{\sigma^2}{1+\sigma} (1+x) e^{-\sigma x}; \quad x > 0, \sigma > 0, \quad (1.8)$$

(Ghitany *et al.*, 2008) have explored some interesting properties of this distribution and showed that Lindley distribution gives better lifetime model than the exponential distribution in applications. Sankaran (1970) introduced the discrete Poisson-Lindley distribution after mixing Poisson and Lindley distribution. Zakarzadeh and Dolati (2009) introduced the generalization of Lindley distribution having three parameters.

It is observed that Lindley distribution is a particular case of (1.7). The *pdf* (1.7) can be shown as a mixture of

exponential $\left(\frac{\sigma}{\lambda}\right)$ and gamma $\left(2, \frac{\sigma}{\lambda}\right)$ distribution as follows:

$$f(x; \sigma, \lambda) = pf_1(x) + (1-p)f_2(x) \quad (1.9)$$

The relation between (1.6) and (1.7), we have

$$(\lambda(1+\sigma)+\sigma x)fx = \sigma^2\left(1+\frac{x}{\lambda}\right)(1-F(x)) \tag{1.10}$$

The relation (1.10) is used for obtaining the recurrence relations for moments of *gos* from Sushila distribution. In this paper, we have established recurrence relations for single and product moments of generalized order statistics from Sushila distribution. This paper comprise three sections. In Section 2, we have established the recurrence relation based on single moment of generalized order statistics from Sushila distribution. In Section 3, we have obtained the recurrence relation based on product moment of generalized order statistics from Sushila distribution.

RECURRENCE RELATIONS FOR SINGLE MOMENTS

Theorem 2.1: Let X be a non-negative continuous random variable and follows Sushila distribution given in (1.7). For

Case II $\gamma_i \neq \gamma_j, i \neq j \in (1, 2, \dots, n-1), k = 1, 2, \dots, n \in \mathbb{N}, 1 \leq r \leq n, l = 0, 1, 2, \dots$

$$\begin{aligned} &\lambda(1+\sigma)E[X^l(r, n, \tilde{m}, k)] + \sigma E[X^{l+1}(r, n, \tilde{m}, k)] \\ &= \frac{\sigma^2 \gamma_r}{(l+1)} [E[X^{l+1}(r, n, \tilde{m}, k)] - E[X^{l+1}(r-1, n, \tilde{m}, k)]] \\ &+ \frac{\sigma^2 \gamma_r}{\lambda(l+2)} [E[X^{l+2}(r, n, \tilde{m}, k)] - E[X^{l+2}(r-2, n, \tilde{m}, k)]] \end{aligned} \tag{2.1}$$

Proof. We have

$$\begin{aligned} &\lambda(1+\sigma)E[X^l(r, n, \tilde{m}, k)] + \sigma E[X^{l+1}(r, n, \tilde{m}, k)] \\ &= c_{r-1} \int_0^\infty x^l \left(\sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i-1} \right) (\lambda(1+\sigma)+\sigma x)fx dx \end{aligned}$$

On using equation (1.10), we have

$$\begin{aligned} &= c_{r-1} \int_0^\infty x^l \left(\sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i-1} \right) \sigma^2 \left(1 + \frac{x}{\lambda} \right) (1-F(x)) dx \\ &= \sigma^2 c_{r-1} \int_0^\infty x^l \sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i-1} (1-F(x)) dx \\ &\quad + \frac{\sigma^2}{\lambda} c_{r-1} \int_0^\infty x^{l+1} \sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i-1} (1-F(x)) dx \\ &= \sigma^2 c_{r-1} \int_0^\infty x^l \sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i} dx \\ &\quad + \frac{\sigma^2}{\lambda} c_{r-1} \int_0^\infty x^{l+1} \sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i} dx \\ &\lambda(1+\sigma)E[X^l(r, n, \tilde{m}, k)] + \sigma E[X^{l+1}(r, n, \tilde{m}, k)] = I + II \end{aligned} \tag{2.2}$$

Now,

$$I = \sigma^2 c_{r-1} \int_0^\infty x^l \left(\sum_{i=1}^r a_i(r)(1-F(x))^{\gamma_i} \right) dx$$

Integrating by parts treating x^l as integration and rest of the part for differentiation.

$$\begin{aligned}
 &= \sigma^2 c_{r-1} \left[\sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} \cdot \frac{x^{l+1}}{l+1} \Big|_0^\infty - \int_0^\infty x^l \left(\frac{d}{dx} \left(\sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} \right) \right) \left(\int x^l dx \right) dx \right] \\
 &= \frac{\sigma^2}{l+1} c_{r-1} \int_0^\infty x^{l+1} \left(\frac{d}{dx} \left(\sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} \right) \right) dx = \frac{\sigma^2}{l+1} c_{r-1} \int_0^\infty x^{l+1} \sum_{i=1}^r a_i(r) \gamma_i (1-F(x))^{\gamma_i-1} f(x) dx
 \end{aligned}$$

on using (2.1) and $c_{r-1} = \gamma_r c_{r-2}$, we have

$$\begin{aligned}
 &= \frac{\sigma^2}{l+1} c_{r-1} \int_0^\infty x^{l+1} \left[\gamma_r \left\{ c_{r-1} \sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} - c_{r-2} \sum_{i=1}^{r-1} a_i(r-1) (1-F(x))^{\gamma_i} \right\} \right] f(x) dx \\
 &- \frac{\sigma^2 \gamma_r}{l+1} \left[c_{r-1} \int_0^\infty x^{l+1} \sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} f(x) dx - c_{r-2} \int_0^\infty \sum_{i=1}^{r-1} a_i(r-1) (1-F(x))^{\gamma_i} f(x) dx \right]
 \end{aligned}$$

Therefore

$$I = \frac{\sigma^2 \gamma_r}{(l+1)} \left[E \left[X^{l+1} (r, n, \tilde{m}, k) \right] - E \left[X^{l+1} (r-1, n, \tilde{m}, k) \right] \right]$$

similarly second integral is given by

$$II = \frac{\sigma^2}{\lambda} c_{r-1} \int_0^\infty x^{l+1} \sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} dx = \frac{\sigma^2 \gamma_r}{\lambda(l+2)} \left[E \left[X^{l+2} (r, n, \tilde{m}, k) \right] - E \left[X^{l+2} (r-1, n, \tilde{m}, k) \right] \right]$$

substituting the value of the integral I and II in equation no(2.3), we have

$$\begin{aligned}
 &\lambda(1+\sigma) E \left[X^l (r, n, \tilde{m}, k) \right] + \sigma E \left[X^{l+1} (r, n, \tilde{m}, k) \right] \\
 &= \frac{\sigma^2 \gamma_r}{(l+1)} \left[E \left[X^{l+1} (r, n, \tilde{m}, k) \right] - E \left[X^{l+1} (r-1, n, \tilde{m}, k) \right] \right] \\
 &+ \frac{\sigma^2 \gamma_r}{\lambda(l+2)} \left[E \left[X^{l+2} (r, n, \tilde{m}, k) \right] - E \left[X^{l+2} (r-1, n, \tilde{m}, k) \right] \right]
 \end{aligned}$$

and hence the result.

Corollary 2.1: For $m_1 = m_2 = \dots = m_{n-1} = m$, the recurrence relation for single moments of gos from Sushila distribution has the form

$$\begin{aligned}
 &\lambda(1+\sigma) E \left[X^l (r, n, m, k) \right] + \sigma E \left[X^{l+1} (r, n, m, k) \right] \\
 &= \frac{\sigma^2 \gamma_r}{(l+1)} \left[E \left[X^{l+1} (r, n, m, k) \right] - E \left[X^{l+1} (r-1, n, m, k) \right] \right] \\
 &+ \frac{\sigma^2 \gamma_r}{\lambda(l+2)} \left[E \left[X^{l+2} (r, n, m, k) \right] - E \left[X^{l+2} (r-2, n, m, k) \right] \right] \tag{2.3}
 \end{aligned}$$

Remark 2.1: At $\lambda=1$ in (2.3) we get the recurrence relation for single moments of generalized order statistics from Lindley distribution.

Remark 2.2: Recurrence relation for single moments of order statistics (at $m = 0, k = 1$) from Sushila distribution is

$$\begin{aligned}
 &\lambda(1+\sigma) E \left[X_{r:n}^j \right] + \sigma E \left[X_{r:n}^{j+1} \right] \\
 &= \frac{\sigma^2 (n-r+1)}{(l+1)} \left[E \left[X_{r:n}^{l+1} \right] - E \left[X_{r-1:n}^{l+1} \right] \right]
 \end{aligned}$$

$$+ \frac{\sigma^2(n-r+1)}{\lambda(l+2)} \left[E \left[X_{r:n}^{l+2} \right] - E \left[X_{r-2:n}^{l+2} \right] \right] \tag{2.4}$$

Remark.2.3:Recurrence relation for single moments of k^{th} upper record ($m = -1$) from Sushila distribution is

$$\begin{aligned} \lambda(1+\sigma) E \left[X_{U(r)}^{(k)} \right]^j + \sigma E \left[X_{U(r)}^{(k)} \right]^{j+1} \\ = \frac{\sigma^2 k}{(l+1)} \left[E \left[X_{U(r)}^{(k)} \right]^{l+1} - E \left[X_{U(r-1)}^{(k)} \right]^{l+1} \right] \\ + \frac{\sigma^2 k}{\lambda(l+2)} \left[E \left[X_{U(r)}^{(k)} \right]^{l+2} - E \left[X_{U(r-2)}^{(k)} \right]^{l+2} \right] \end{aligned}$$

RECURRENCE RELATIONS FOR PRODUCT MOMENTS

In this section, the recurrence relation for product moments of *gos* from Sushila distribution has been obtained. Particular cases for recurrence relations of order statistics and k^{th} upper record are also discussed.

Theorem 3.1: Let X be a non-negative continuous random variable and follows Sushila distribution given in (1.7).

Let case II be satisfied i.e. $\gamma_i \neq \gamma_j, i \neq j \in (1, 2, \dots, n-1)$. For Sushila distribution as given in (1.7) and $k \geq 1, n \in N, \tilde{m} \in R, 1 \leq r < s \leq n, s-r \geq 2$, and $u, v = 0, 1, 2, \dots$

$$\begin{aligned} \lambda(1+\sigma) E \left[X^u(r, n, \tilde{m}, k) X^{v+1}(s, n, \tilde{m}, k) \right] + \sigma E \left[X^u(r, n, \tilde{m}, k) X^{v+1}(s, n, \tilde{m}, k) \right] \\ = \frac{\sigma^2 \gamma_s}{(v+1)} \left[E \left[X^u(r, n, \tilde{m}, k) X^{v+1}(s, n, \tilde{m}, k) \right] - E \left[X^u(r, n, \tilde{m}, k) X^{v+1}(s-1, n, \tilde{m}, k) \right] \right] \\ + \frac{\sigma^2 \gamma_s}{\lambda(v+2)} \left[E \left[X^u(r, n, \tilde{m}, k) X^{v+2}(s, n, \tilde{m}, k) \right] - E \left[X^u(r, n, \tilde{m}, k) X^{v+2}(s-1, n, \tilde{m}, k) \right] \right] \end{aligned} \tag{3.1}$$

Proof: We have

$$\begin{aligned} \lambda(1+\sigma) E \left[X^u(r, n, \tilde{m}, k) X^v(s, n, \tilde{m}, k) \right] + \sigma E \left[X^u(r, n, \tilde{m}, k) X^{v+1}(s, n, \tilde{m}, k) \right] \\ = \int_0^\infty x^u \left\{ \sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} \right\} \frac{f(x)}{(1-F(x))} I(x) dx \end{aligned} \tag{3.2}$$

where $I(x)$ is given by

$$I(x) = c_{s-1} \int_x^\infty y^v \left[\sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right] \frac{fy}{(1-F(y))} dy$$

On substituting $f(y)$ in above equation

$$= \sigma^2 c_{s-1} \int_x^\infty y^v \left[\sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right] \left(1 + \frac{y}{\lambda} \right) dy$$

$$I(x) = I_1(x) + I_2(x)$$

Where $I_1(x)$ is given by

$$I_1(x) = \frac{\sigma^2 \gamma_s}{\nu+1} \left[\left\{ c_{s-1} \int_x^\infty y^{\nu+1} \sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right. \right. \\ \left. \left. - c_{s-2} \int_x^\infty y^{\nu+1} \sum_{i=r+1}^{s-1} a_i^{(r)}(s-1) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right\} \frac{f(y)}{(1-F(y))} dy \right] \quad (3.5)$$

Similarly, $I_2(x)$

$$I_2(x) = \frac{\sigma^2 \gamma_s}{\lambda(\nu+2)} \left[\left\{ c_{s-1} \int_x^\infty y^{\nu+2} \sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right. \right. \\ \left. \left. - c_{s-2} \int_x^\infty y^{\nu+2} \sum_{i=r+1}^{s-1} a_i^{(r)}(s-1) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right\} \frac{f(y)}{(1-F(y))} dy \right] \quad (3.6)$$

Therefore

$$I(x) = I_1(x) + I_2(x)$$

On substituting $I(x)$ in (3.2), we get

$$\lambda(1+\sigma) E[X^u(r, n, \tilde{m}, k) X^\nu(s, n, \tilde{m}, k)] + \sigma E[X^u(r, n, \tilde{m}, k) X^{\nu+1}(s, n, \tilde{m}, k)] \\ = \int_0^\infty x^u \left[\sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} \right] \frac{f(x)}{(1-F(x))} I(x) dx \\ = \int_0^\infty x^u \left\{ \sum_{i=1}^r a_i(r) (1-F(x))^{\gamma_i} \right\} \frac{f(x)}{(1-F(x))} \left[\frac{\sigma^2 \gamma_s}{\nu+1} \left[\left\{ c_{s-1} \int_x^\infty y^{\nu+1} \sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right. \right. \right. \\ \left. \left. - c_{s-2} \int_x^\infty y^{\nu+1} \sum_{i=r+1}^{s-1} a_i^{(r)}(s-1) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right\} \frac{f(y)}{(1-F(y))} dy \right] \\ + \frac{\sigma^2 \gamma_s}{\lambda(\nu+2)} \left[\left\{ c_{s-1} \int_x^\infty y^{\nu+2} \sum_{i=r+1}^s a_i^{(r)}(s) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right. \right. \\ \left. \left. - c_{s-2} \int_x^\infty y^{\nu+2} \sum_{i=r+1}^{s-1} a_i^{(r)}(s-1) \left(\frac{1-F(y)}{1-F(x)} \right)^{\gamma_i} \right\} \frac{f(y)}{(1-F(y))} dy \right]$$

and hence the result given in (3.1).

Corollary 3.1: For $m_1 = m_2 = \dots = m_{n-1} = m$, the recurrence relation for product moments of gos from Sushila distribution has the form

$$\lambda(1+\sigma) E[X^u(r, n, m, k) X^{\nu+1}(s, n, m, k)] + \sigma E[X^u(r, n, m, k) X^{\nu+1}(s, n, m, k)] \\ = \frac{\sigma^2 \gamma_s}{(\nu+1)} \left[E[X^u(r, n, m, k) X^{\nu+1}(s, n, m, k)] - E[X^u(r, n, m, k) X^{\nu+1}(s-1, n, m, k)] \right] \\ + \frac{\sigma^2 \gamma_s}{\lambda(\nu+2)} \left[E[X^u(r, n, m, k) X^{\nu+2}(s, n, m, k)] - E[X^u(r, n, m, k) X^{\nu+2}(s-1, n, m, k)] \right] \quad (3.6)$$

Remark 3.1: At $\lambda=1$ in (3.4) we get the recurrence relation for product moments of generalized order statistics from Lindley distribution.

Remark 3.2: Recurrence relation for product moments of order statistics (at $m = 0, k = 1$) from Sushila distribution is

$$\begin{aligned} & \lambda(1+\sigma)E\left[X_{r:n}^u X_{r:n}^{v+1}\right] + \sigma E\left[X_{r:n}^u X_{r:n}^{v+1}\right] \\ &= \frac{\sigma^2(n-s+1)}{(v+1)}\left[E\left[X_{r:n}^u X_{s:n}^{v+1}\right] - E\left[X_{r:n}^u X_{s-1:n}^{v+1}\right]\right] \\ &+ \frac{\sigma^2(n-s+1)}{\lambda(v+2)}\left[E\left[X_{r:n}^u X_{s:n}^{v+2}\right] - E\left[X_{r:n}^u X_{s-1:n}^{v+2} X^u(r, n, \tilde{m}, k)\right]\right] \end{aligned} \quad (3.7)$$

Remark 3.2: Recurrence relation for product moments of k^{th} upper record ($m = -1$) from Sushila distribution.

REFERENCE

- Ahmad, A.A. (2007): Relations for single and product moments of generalized orderstatistics from doubly truncated Burr type XII distribution. J. Egypt. Math. Soc. 15(1), 117-128.
- Ahmad, A.A. and Fawzy, A.M. (2003): Recurrence relations for single moments ofgeneralized order statistics from doubly truncated distributions. J. Statist. Plann.Infer., 117(2), 241-249.
- Ahsanullah, M. (1995): Record statistics. Nova Science Publisher, New York.
- Ahsanullah, M. (2000): Generalized order statistics from exponential distribution. J. Statist. Plann.Infer., 85, 85-91.
- Ahsanullah, M. and Nevzorov, V. B. (2001): Ordered Random Variables. Nova, New York.
- Arnold, B. C., Balakrishnan, N. and Nagaraja, H. N. (1992): A First Course in Order Statistics. Wiley, New York.
- Athar, H., Nayabuddin and Khwaja, S.K. (2012): Relations for moments of generalized order statistics from Marshal-Olkin-extended Weibull distribution and its characterization. Prob. Stat. Forum, 5(4), 127-132.
- Cramer, E. and Kamps, U. (2000): Relations for expectations of functions of generalized order statistics. J. Statist. Plann.Infer.,89, 1-2.
- David,H.A. and Nagaraja, H.N. (2003): Order Statistics. John Wiley, New York.
- Dziubdziela, W. and Kopociński, B. (1976): Limiting properties of $k - \text{th}$ record value. Appl. Math. (Warsaw), 15, 187-190.
- Ghitany, M.E., Atieh, B. and Nadarajah, S. (2008): Lindley distribution and its Applications. Math.Comput.Simul., 78, 493-506.
- Kamps, U. (1995): A Concept of Generalized Order Statistics. B. G. Teubner Stuttgart
- Kamps, U. and Cramer, E. (2001): On distributions of generalized order statistics. Statistics, 35, 269-280.
- Kamps, U. Gather, U. (1997): Characteristic property of generalized order statistics for exponential distribution. Appl. Math. (Warsaw), 24, 383-391.
- Keselling, C. (1999): Conditional distribution of generalized order statistics and some characterizations. Metrika, 49, 27-40.
- Khan. R.U., Anwar, Z. and Athar, H. (2007): Recurrence relations for single and product moments of generalized order from doubly truncated Weibull distribution. Aligarh, J. Statist., 27, 69-79.
- Khan, R.U. and Khan, M.A. (2016): Moment properties of generalized order statistics from exponential-Weibull lifetime distribution. Journal of Advanced Statistics, 1, 146-155.
- Lindley, D.V. (1958): Fiducial distribution and Baye's theorem. J. Royal Stat. Soc., Series B, 20, 102-107.
- Pawlas, P. and Szynal, D. (2001): Recurrence relations for single and product moments of kth record values from Pareto, Generalized Pareto and Burr distributions. Commun.Statist. Theory Math., 30(4), 1699-1709.
- Rohtgi, V.K. and Saleh, A.K.Md.E. (1988): A class of distribution connected to order statistics with nonintegral sample size. Comm. Statist. Theory Methods, 17, 2005-2012.
- Sankaran, M. (1970): The discrete Poisson-Lindley distribution. Biometrics, 26, 145-149.
- Shanker, R., Sharma, S., Shanker, U. and Shanker, R. (2013): Sushila distribution and its application to waiting times data. Opinion- Int. J. Bus. Manag.3(2), 01-11.
- Saran, J., Pushkarna, N. and Tiwari, R. (2015): Moment properties of generalized order statistics from Lindley distribution. J. Stat. Appl. Pro., 4(3), 429-434.
- Stigler, S.M. (1977): Fractional order statistics with applications. J. Amer. Statist. Assoc., 72, 544-550.
- Zakerzadeh, H. and Dolati, A. (2009): Generalized Lindley distribution. J. Math. Ext., 3(2), 13-25.

Source of Support: None Declared
Conflict of Interest: None Declared